Zg&, GREEN LAND SR. SEC. PUBLIC SCHOOL, LDH
S, CLASS-VII

\Dowo'/
Dear Parents and Students

As we embark on the summer vacation, | want to remind you of the importance
of continued learning and growth during this time away from school. To ensure
that our students remain engaged and academically stimulated, we have
assigned summer vacation homework for all classes. This homework is designed
to reinforce concepts learned throughout the year and to prepare students for
the upcoming academic term. | urge all students to approach their summer
homework with diligence and responsibility. Completing these assignments will
not only enhance your academic skills but also help you start the new school
year on the right foot. Parents, your support in encouraging your children to
complete their summer homework is invaluable. By working together, we can
ensure that our students continue to thrive academically.

If you have any question or concern regarding the summer vacation homework,
please do not hesitate to reach out to your child's teachers .

Wishing everyone a productive and enjoyable summer break!

S,

Sy

Principal




Green Land Sr. Sec. Public School Ludhiana
Class-VIl Holidays Homework Project

1. Prepare a project report on the topic Structure of the Earth
with diagram. (R. No. 1-10)

2. Prepare a project report on the Rock Cycle with diagram.
(R. No. 11-20)

3. Draw symbols of Regional Political Parties on A4 sheet.
(R. No. 21-30)

4. Prepare a project report on National Political Parties of
India.(R. No. 31-40)

Note: Project report should be at least of ten pages.




Green Land Sr. Sec. Public School Ludhiana
Class: VIl Subject: English ( Assignment No. - 1)
Holiday Homework

1. Read any good book and write its review on A4 sheet .( Compulsory H.W)

2. Solve one page of My Learning Port daily.
3. Solve Revision Test -1 ( From Elementary English Grammar Book)

4 . Three Assignments as Holidays Homework
Reading (Poem)

1. Read the following poem carefully .

1 Grandpa's lap was his golden throne
Where sat the budding little prince

Curling old man's mustache as his own,
Grandpa didn't as much as wince!

2. They were a constant company,

The best of pals and mates,

They needed not playthings any

Yet made palaces with gates!

3. When others had no time nor words,
The young prince chattered all day,

About farries and giants and chirpy birds,
He had a lot to say

4. One night when they came from the sky,
To lead old grandpa away,

While others waited and sobbed, "Oh my!"

The prince was sad, "What about my good night kiss today? "
1. Tick the correct option for each of the following statement.

a) Who was in Grandpa's lap?

(i) the poet (ii) the grandson ( iii) a chirpy bird
b) Grandpa did not 'wince' because he did not

(i) feel anything (ii) want others to know of his pain (iii) have real mustaches

grandchild having fun with him

(iv) his son

(iv) mind his




c) The little prince' chattered all day with

(i) his grandson (i) fairies (iii) birds  (iv) giants

d) What did the child need more than anything else?

(i) toys (ii) palaces (iii) a golden throne (iv) some time

(e) The expression 'to lead old grandpa away' (line 14) suggests that

(i) grandpa was going away to live separately (ii) grandpa was no longer wanted in the
family

(iii) grandpa was going away to visit someone  (iv) grandpa had died
(f) Which lines convey the idea that the boy was very talkative?
(i)lines2to4 (ii)lines10to 12  (iii) lines6to 8 (iv) lines 18 to 20
2. Complete the following statements as briefly as possible.

(a) The relationship between the little boy and Grandpa was like that of and

(b) When the little boy sat in Grandpa's lap, he used to

(c) The little boy talked to his Grandpa about .

(d) When Grandpa died the little boy was very because there was nobody

to .

(e) "One night when they came from the sky" (line 13). Here they' refers to

3. Do you agree that the grandfather led a rather lonely life? Explain your opinion with one or
two reasons from the text.

Ans:

4. What important lesson of life does the poem teach?

Ans :




GREEN LAND SR. SEC. PUBLIC SCHOOL
Class: VIl Subject: English
Grammar ( Assighment- 2)
Holidays Homework
Q1. Identify the Transitive and Intransitive Verbs:
1. He works regularly.
2. She wrote a letter.
3. We must speak the truth.
4. Titanic sank suddenly .
5. We eat rice.
Q2. Underline the Finite verbs and circle the Non-Finite verbs in the following sentences:
. My friend wants to become a singer.
. | failed to solve the sum.
. You must learn to write neatly.
. She looked out of the window.
. | cannot bear to see you crying.
. Gathering some courage, the beggar asked the lady for alms.
. Seeing the weather conditions, we have decided to delay the match.
. | like to sing a song.
Q3. Fill in the blanks with appropriate forms of the Verbs in the bracket.
1. He usually ___ ( travel/ travels) by car.
2.Raman ___ ( like/ likes) catching butterflies.
3. The Muslims ____ ( bury/ buries) their dead.
4. Nonews ___ (is/ are) good news.
5. India __( have/ has) a large army.
Q4. Change the following sentences into the interrogative ( question) form
1. Amar writes beautiful poems.
2. Mosquitoes spread malaria.
3. | know his address.
4. Raju is wearing a hat today.
5. She has learnt French.
Q5. Give the past and past participles of the following verbs.
1. Blow
2. Ring
3. Forget
4. Buy
5. Find
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THE DOG AND THE BONE
Once upon a time, there was a dog. He searched everywhere for food, but it was in vain. An

unexpected juicy bone appeared near the road. Picking up the bone with his mouth, he started
walking back to his house. There was a bridge on the way to his home. The dog looked down
into the river while crossing the wooden bridge. His reflection was there. The foolish dog
mistook it for another dog. He wanted to get that other bone too. So, the greedy dog looked at
his reflection and growled. The reflection growled back, too. This made the dog angry. He
opened his mouth to bark; the piece of bone fell into the river. He had lost the piece of bone
because of his greed and had to return home hungry.

Moral - Greediness is a curse.

Practice question:

1. Write a short story with the help of the following outlines. ( Give a suitable title and a
moral to the story)

Hints :

Once _two cats _ spotted a loaf of bread _ both greedy _ wanted to eat the bigger portion of
the bread _ A monkey _passing by _helped the cats _ bit a small portion _ bit a portion of the

larger part __ repeated _small portion left __ate saying as his fees __cats remained hungry.




Green Land Sr. Sec. Public School Ludhiana
Class : VII Subject: English
Literature (Assignment-3)
Holidays Homework
Chapter - 2 After Twenty Years
Q1. Read the extract and answer the questions that follow.
' It sometimes changes a good man into a bad one,’ said the tall man." You ‘ve been under
arrest for ten minutes, 'Silky' Bob. Chicago thinks you may have dropped over our way
and wires us she wants to have a chat with you.
1. What is the tall man's profession?
a) Doctor
b) Teacher
¢) Policeman
d) Lawyer
2. Which city wants to have a chat with 'Silky *Bob?
a) New York
b) Chicago
c) Boston
d) Los Angeles
3. Why couldn't Patrolman Wells arrest 'Silky '‘Bob himself?
a) He was off duty
b) He didn't recognize Bob
¢) He was out of town
d) He couldn't bring himself to arrest his old friend
4. What does the tall man give to 'Silky ' Bob before taking him to the station?
ANS:

Q2. Answer the following questions.
1. What was 'Silky ' Bob's initial reaction when he saw the tall man’s face in the light?
ANS:

2. How long ago did the man and his friend agree to meet?
ANS:

3. Why did Bob go to the West?
ANS:

4. Describe the character sketch of Jimmy Wells.
ANS:




Poem : The Arrow and the Song

Q1. Read the following extract and answer the questions that follow.
| shot an arrow into the air

It fell to the earth, | knew not where

For , so swiftly it flew, the sight

Could not follow it in its flight.

1. Where did the speaker find the arrow long afterward?
a) In a meadow

b) In an oak

c) Inariver

d) In a field

2. What does the arrow symbolize in the poem?

a) A dreadful weapon

b) Harsh words and their impact

¢) Nature's beauty

d) Speed and agility

3. How does the speaker describe the flight of the arrow?
a) Slow and deliberate

b) Easily trackable

¢) Swift and unpredictable

d) Short and quick

4. Choose the synonym of the word * swiftly *

a) slowly

b) speedily

c) rigidly

d) silently

Q2. Answer the following questions.

1. What does the poem suggest about the relationship between words and actions?
ANS:

2. What is the main theme of the poem?
ANS:

3. Write the rhyming scheme of the poem.
ANS:




Green Land Sr. Sec. Public School, Ludhiana
Class — 7" Holidays Homework

PO Subject: - Mathematics

- Chapter — 1 (Integers)
Assignment — 1
Name Class Section Date

Q-1 Very short answer type questions

a) Write a pair of integers whose sum gives a negative integer.

b) Write a pair of integers whose sum gives zero.

c) Write a pair of integers whose sum is -5.

d) Write a pair of integers whose difference is 4.

e) Write a pair of integers whose difference gives zero.

f) Multiplicative identity for integers is

g) Multiplicative inverse of 5 is

h) Additive inverse of -5 is

) ()-()=__

5 (9)x(-17) =

k) 5x_ =(-45)

) (-72)+(-12) =

m) State true or false, “product of two negative integers is a negative integer”.

n) State true or false, “product of a positive integer and a negative integer is a positive integer”.

Q-2 Short answer type questions.

a) Arrange the following integers in the ascending order : -2,1,0, -3 4, -5
b) Arrange the following integers in descending order : -3, 0, -1,-4, -3, -6
c) (-157) x (-19) + 157 =
d)(-43)+__ =-43
€)(-8) +(-8) +(-8) =__x(-8)
N3x()x(15=___
9 B)x(B)x(N=_____
h) When (-16) is divided by the quotient is 4.
1) ((225)+5=__
J) 51+ =-51
K) (-28)+(-28)=__
m) State true or false
I.  Integers are closed under multiplication.
li. Product of three negative integers is a negative integer.
lii.  When we change the order of the integers their sum remains the same.
Iv. Difference of two negative integers can’t be a positive integer.




Q-3

Long answer type questions.

a)
b)

c)
d)

e)

f)

9)

h)

Write a positive integer and a negative integer whose difference is a positive integer.
Write a positive integer and a negative integer whose difference is a negative integer.

Write two negative integers whose difference is ten.
Evaluate the following : 68 x (-17) + (-68) x 3

Height of a place A is 1800 m above the sea level. Another place B is 700 mbelow the sea level.
What is the difference between the levels of two places?

In a test +3 marks are given for every correct answer and -1 mark is given for incorrect answer.
Shifali attempted all the questions and scored +20 marks though she got 10 correct answers. How
many incorrect answers she attempted?

In a test +3 marks are given for every correct answer and -1 mark is given for incorrect answer.
Shifali attempted all the questions and scored +20 marks though she got 10 correct answers. How
many questions were given in the test?

The temperature at 12 noon was 10 ° C above zero . If it decreases at the rate of 2° C per hour uptill
mid night. At what time the temperature would be -8°C? What would be the temperature at mid
night.

An elevator descends into a mine shaft at the rate of 6 m/min . If the descend starts from 8 metre

above the ground, how long it will take to reach — 148 m ?

10




Green Land Sr. Sec. Public School, Ludhiana

) Class — 7"
g Holidays Homework

Subject: - Mathematics
Chapter — 2 (Fractions and Decimals)
Assignment — 2
Name Class Section Date

Q-1 Very short answer type questions
a) What is the mixed fraction of ?3 ?

b) What is the improper fraction of 12;—{} ?

o

c) What is the reciprocal of 1—3 ?

d) The two non zero fractions whose product is 1, are called the of each other.
e) 2 of 45 s

f)
9)

5
5
7
g

11

h) The lowest form of the product 2% X —

i) 1.3x100=

j) 24x24=
k) 2.567 x 100 =
) 2.5x 1000 =
m) 22.55 + 100 =
n) 345.789+10=
0) 34.67 +1000 =

Q-2 Multiple Choice Questions:
a) 2 x % is equal to:

(i) = (i) = (= (V)7
b) 1— of 16 equal to:

(i) 8 (ii) 6 (iiii) 9 (iv) 7

11




C) % of 75 is equal to:

(i) 40 (ii) 35
d) 5 X g is equal to:
(i) (i) 5
e) 5 < 3 is equal to:
OF (i) 35
f) %of g is equal to:
OFs (i) 5;
9) 15—& X 1% is equal to:
(i) 40 (ii) 400

h) 35.67 + 100 is equal to:
(i) 3567 (ii) 0.3567
i) 2.5x5isequal to:

(i) 12 (i) 12.5
j) 22.56 x 100 is equal to:

(i) 225.6 (ii) 2256

(iii)45  (iv) 15
(iii) = (iv) =
(iii) (iv) o
(i)  (iv) none of these
(iii) 0.4 (iv) none of these
(iii) 3.567  (iv) 356.7
(iii) 1.25  (iv) 125
(iii) 2.256 (iv) none of these

12




Green Land Sr. Sec. Public School, Ludhiana
Class — 7"
Holidays Homework
Subject: - Mathematics
Chapter — 3 (Data Handling)

Assignment - 3
Name Class Section Date

Q-1 Very short answer type questions

a) The number of times an observation occurs in the given data is called of the
observation.

b) Arithmetic mean is defined as

c) The difference between highest and lowest observations in a given data is called its

d) The median of any data lies between the and observations.

e) Can a set of numbers have more than one mode?
f) is the observation that occurs most frequently in the data.
g) State true or false

I Mode of the data is always from the given data.

ii. The mean is one of the numbers in the data.

iii. Range of the data is always from the data.

iv. The median is always one of the numbers in the data.

h) When the given data is arranged in ascending or descending order, then the middle most
observation is the of the data.

1) The representation of data in form of rectangles of uniform width is called a
]) can be used to compare two collections of data.
Q.2 Multiple Choice Questions:
a) A batsman scored the following runs in six innings: 35,30,45,65,39,20. The mean runs scored by him in

an inning is:
(1) 39 (i) 38 (i) 37 (iv) 40

13




b) The marks of 11 students of a class are given as: 78,11,99,63,94,6,78,36,30,55,22.
The range of marks is:
(i) 90 (i) 91 (i) 92 (iv) 93

c) The mode of the distribution 3,5,7,4,2,1,4,3,4 is:
(i) 7 (i) 4 @iy 3 (iv) 1

d) The median of the distribution 2,3,4,7,5,1,6 is:
(i) 1 (i) 2 @iy 3 (iv) 4

Q-3 Short answer type questions.

a) Find the range of the data 14, 6, 12, 17, 21, 10, 4, 3.

b) Find the mean of first five prime numbers.

c) Find the mean of first ten even natural numbers.

d) The following marks in a class assessment are 4, 6, 7, 5, 3, 5, 4, 5, 2, 6. Find the arithmetic
mean.

e) Find the range of the data 21, 6,17, 18,12, 8,4, 13
f) Find the mode : 2,6,5,3,0,3,4,3,2,4,5,2,4
g) Find the mode : 2, 14 , 16, 12, 14, 14, 16, 14, 10, 14, 18

h) The numbers of trees in different parks of a city are 33, 38, 48, 33, 34, 34, 33 and 24. Find the
mode of this data.

a) Find the median of the data 24, 36, 46, 17, 18, 25, 35.
b) What is the median of the first nine even natural numbers?

14




GREEN LAND SR. SEC. PUBLIC SCHOOL

Assignment No. :- 1
Class — VII, Subject — Science
Chapter — 2 (Nutrition in Animals)
Holidays Homework
Name Class Section

Answer the following questions:-

Q1:- Name the parts of alimentary canal where:-
a) Water gets absorbed from undigested food.
Ans.

b) Digested food gets absorbed.
Ans.

c) Taste of the food is perceived.
Ans.

d) Bile juice is produced.
Ans.

Q2:- Name the secretions of stomach which helps in digestion of food.
Ans.

Q3:- What is the role of mucus secreted by stomach?
Ans.

Q4:- Suggest the organ of digestive system where the digestive juices from
liver and pancreas is poured.
Ans.

Q5:- Mention the position and function of the rumen in ruminants.
Ans.

Q6:- Name the simple form of carbohydrates, fats and proteins.
Ans.
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Q7:- Name the various types of teeth and their functions.
Ans.

Q8:- Draw a well labelled diagram to show digestion in amoeba.

Q9:- Write an activity to test the action of saliva on starch.
Ans.

Q10:- Why do butterflies have a needle like mouth?
Ans.

Q11:- HCL secreted by the stomach is corrosive in nature being an acid but the stomach
remains safe from it. How does it happen?
Ans.

Q12:- What do you mean by:
(a) Cilia

Ans.

(b) Tantacles

Ans.
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(c) Proboscis

Ans.

Q13:- Why should we not eat food in a hurry?

Ans.

Q14:- Solve the crossword given below:

'p

* L] e

M 3

Across:-

1) Cream coloured digestive gland.

4) Organ that mixes saliva with the food.

5) Point of defaecation.

7) Stored in gall bladder.

10) Finger like outgrowth in the small intestine
13) Kind of taste buds

14) Kills bacteria in the stomach

Down:-

2) Feeds with the help of pseudopodia
3) undigested excretory solid residue
6) Total number of molars in one jaw of an adult
8) Largest gland

9) Watery secretion in the mouth

11) A ruminant

12) Form of food chewed by ruminants

17




Q15:- What causes tooth decay?

Ans.

Q16:- Name the different steps involved in the process of nutrition.

Ans.

Q17:- Ruminants such as cows and buffaloes swallow their food hurriedly and then sit
restfully and chew their food .Give reason.

Ans.

18




GREEN LAND SR. SEC. PUBLIC SCHOOL

Assignment No. :- 2
Class — VII, Subject — Science
Chapter — 2 (Physical & Chemical changes)
Holidays Homework
Name Class Section

Answer the following questions:-

Q1:- Define the reactions given below with examples:-
a) Combination reaction.
Ans.

b) Decomposition reaction.
Ans.

c) Displacement reaction.
Ans.

Q2:- Write any four characteristics of chemical reactions
Ans.

Q3:- What are the conditions necessary for rusting of iron?
Ans.

Q4:- How can we prevent iron objects from rusting?
Ans.

Q5:- Write a short note on ozone layer.
Ans.
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Q6:- Write an activity to prepare crystals of copper sulphate by the process of
crystalisation.
Ans.

Q7:- Rusting of iron is a chemical change. Give reason.
Ans.

Q8:- Write an activity to show that a chemical change occurs on mixing baking soda
with vinegar.
Ans.

Q9:- What are the characteristics of physical changes? Write any three examples.
Ans.

Q10:- Rashmi’s mother always sliced the vegetables and kept them in airtight
containers for storage. Rashmi wondered why her mother could not store it in a
simple container like she used to store dry fruits.

Ans.

Q11:- While burning crackers on Diwali, Rashmi wondered if it was a harmful chemical

change for society. Should we burn or stop the burning of crackers and celebrate  the festival
by lightning the lives of underprivileged children by sharing sweets and happiness?

Ans.
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Q12:-We should eat freshly cut apple. Why?
Ans.

Q13:- Name the gas which turns lime water milky.
Ans.

Q14:- Write the colour of copper sulphate solution obtained when iron nails
are dipped in it. Give reason .
Ans.

Q15:- What happens with the magnesium ribbon when we burn it? Give reason.
Ans.

Q16:-Why is the magnesium ribbon cleaned with sand paper? What will happen
if it is not done?
Ans.
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GREEN LAND SR. SEC. PUBLIC SCHOOL

Assignment No. :- 3
Class — VII, Subject — Science
Holidays Homework
Name Class Section
Choose the correct option:-
Q1:- Why does mercury in a thermometer rise or fall?
a) Due to the container’s material
b) Due to the temperature of the environment
c) Due to pressure changes
d) All of these

Q2:- What is the main function of the kink in a clinical thermometer?
a) To make it easier to handle
b) To prevent mercury from falling back too quickly
c) To increase the temperature range
d) To reduce the amount of mercury used

Q3:- Why is it recommended to wear several layers of clothing in winter?
a) It looks fashionable
b) It allows one layer to absorb all the cold
c) It is lighter than wearing one thick layer
d) Multiple layers trap air, which is a good insulator

Q4:- How does heat travel from the Sun to the Earth?
a) Conduction
b) Convection
C) Radiation
d) Contraction

Q5:- Why should the bulb of a thermometer not touch the sides of the container?
a) To prevent it from breaking
b) To ensure accurate measurement
c) To prevent heat transfer to the container
d) To avoid contamination
Q6:- Why is convection not possible in solids?
a) Molecules are too far apart
b) Molecules cannot move freely
c) Solids are too dense
d) Heat does not affect solids
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Q7:- Heat always flows:-
a) from a colder object to a hotter object
b) from a hotter object to a colder object
c) in both the directions
d) heat never flows from one object to other
Q8:- Land breeze blows from:-
a) lower surface to upper surface
b) sea to land
c) upper surface to lower surface
d) land to sea
Q9:- A wooden spoon is dipped in a cup of ice-cream, its other end:-
a) does not become cold
b) become cold by radiation
c) become cold by convection
d) become cold by conduction
Q10:- Which of the following is not a part of digestive system?
a) Mouth cavity
b) Stomach
c) Food pipe
d) Wind pipe
Q11:- The way of taking food by bees is:-
a) Swallowing
b) Sucking
c) Filtering
d) None of these
Q12:- The component of food absorbed in large intestine is :-
a) Carbohydrate
b) Protein
c) Water
d) Fats
Q13:- Rhizobium is an example of :-
a) Symbiosis
b) Insectivorous
c) Parasites
d) All of these
Q14:- Which of the following is an insectivorous plant?
a) Venus fly trap
b) Lichens
c) Amoeba
d) Euglena
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Q15:-

is a saprophyte.

a) Mushroom
b) Lichen

c) Venus fly trap
d) Dodder

Q16:- What is the role of chlorophyll in photosynthesis?

a) It absorbs carbon dioxide
b) It captures light energy
c) It releases oxygen

d) It transports water

Q17:- What do guard cells do?

a) Protect the plant from insects

b) Regulate the opening and closing of stomata
c) Absorb minerals from the soil

d) Capture light energy

Q18:- What is the main product of photosynthesis?

a) Nitrogen

b) Oxygen

c) Carbon dioxide
d) Glucose

Q19:- Which mineral is essential for the synthesis of proteins in plants?

a) Potassium
b) Nitrogen

c) Phosphorus
d) Calcium

Q20:- Which of the following is not an end product of photosynthesis?

a) Carbon dioxide
b) Oxygen

c) Water

d) Glucose
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Green Land Sr. Sec. Public School Ludhiana
Class-VIl Holidays Homework Assignment
Ch-2 Inside Our Earth (Geography)
Subject: Social Science

MCQ’s:-
1. Rocks which contain fossils are called .
a) lgneous rocks b) Sedimentary rocks c) Metamorphic rocks
2. The Common mineral in the continental and the oceanic crust is
a) Silicon b) Magnesium c) Aluminium
3. Which rocks are known as Primary Rocks?
a) Sedimentary rocks b) Metamorphic rocks c) Igneous rocks

4. The process of transformation of the rock from one to another is known
as :
a) Rock Cycle b) Carbon Cycle c) Water Cycle

5. The deepest mine in the world is in

a) South Africa b) India c) Japan

6. Depth of mantle layer of the earth is .
a) 3100 Km b) 2900 Km c) 3000 Km
7) The core, below the mantle, extends to a depth of
a) 2900 Km b) 3900 Km c) 1500 Km

Fill in the blanks:-
1. Under heat and pressure igneous and sedimentary rocks change into

rocks.

2. The oceanic crust mainly consists of and

3. Limestone under excessive heat and pressure changes into
4. Basalt is an example of rock.

5. Core is made up of and .

6. Like a the earth is made up of layer.

Answer the following questions:-
1. What is the latin word for igneous? What does it mean?
Ans:-

2. How are extrusive igneous rocks formed?
Ans:-
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3. What are fossils?
Ans:-

4. What is lava?

Ans:-

5. Give examples of sedimentary rocks.
Ans:-

6. Define the term weathering.

Ans:-

7. What is the radius of the earth?
Ans:-

8. What is magma?

Ans:-

9. Why is it difficult to study the interior of the earth?
Ans:-

10. What is a rock?

Ans:-

Assertion and Reasoning:-
Assertion:- Igneous rocks are also referred to as primary rocks.
Reason : These rocks are formed by solidification of lava and magma.
(a) Both A and R are true and R is the correct explanation of A.
(b) Both A and R are true but R is not the correct explanation of A.
(c) Ais true but R is false.
(d) A'is false but R is true.

Assertion: Metamorphic rocks are usually crystalline in structure and perhaps the hardest of
all the rocks.
Reason : Metamorphic rocks make good building and construction material.

(a) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true but R is not the correct explanation of A.
(c) Alis true but R is false.

(d) A'is false but R is true.
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Green Land Sr. Sec. Public School Ludhiana
Class-VIl Holidays Homework Assignment
Ch-2 Institutional Representation of Democracy
Subject: Social Science
MCQ’s:-s
1. When was the Indian National Congress formed?
a)1885 b) 1889 c) 1890
2. Presently how many national parties are recognized by the Election Commission of India?
a)7 b) 17 c) 27
3. Who is the head of the Election Commission of India?
a) Chief Election Commission b) President of India c) Prime Minister of India
4. Election manifestos are issued by .
a) Constitution b) Election Commission c) Political Parties

Fill in the blanks:-
1. India has seen coalition government in , and
2. The political parties act as a link between and
3. In India we have party system.

4. Ballot paper is now replaced by
5.The symbol of a political party is its

Answer the following questions:-
1. Which countries have single party system?

Ans:-

2. Who allots the symbols to political parties?
Ans:-

3. What is a manifesto?
Ans:

4. What is a majority party?
Ans:

5.Who scrutinizes the Nomination Papers?
Ans:-
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6. Write any two advantages of Universal Adult Franchise?
Ans:

Case Study
Running a coalition government is not an easy task as there is difference in their
vision, goals and policies. According to some writers, a Coalition Government is
more democratic, because it is formed by an agreement between many political
parties. It commands ‘wider support’. But most writers are of the opinion that a

Coalition Government means a weak and ineffective government.
1. What is Coalition Government?
Ans:-

2. India has a single party system. (True/False)
3. A conflict between coalition partners may result in political

Picture based question :-

by

Write the name of the parties in front of their symbols.




GREEN LAND SR. SEC. PUBLIC SCHOOL LDH.
Holidays Homework
Class-VII Subject: Social Science
Ch-1 (Geography and Civics)

Name Class Section

1. Excessive burning of fossil fuel has caused air pollution. State whether
True/False.

2. The world environment day is celebrated on

3. Which one is human made component of the environment?

a) Water b) Land ¢) Buildings
4. What is the average thickness of Lithosphere?
Ans:-

5. Assertion and Reasoning:-
Assertion:- Thin layer of atmosphere protects us from the ultraviolet sun rays.

Reason:- Ozone layer present in the atmosphere does not allow ultraviolet rays
to pass through it.

Options for Answer:-
A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct

explanation of Assertion (A).

B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct
explanation of Assertion (A).

C) Assertion (A) is true but Reason (R) is false.

D) Assertion (A) is false but Reason (R) is true.

E) Both A and R are false.

6. Opposition has a very important role to play in democracy. State whether
True/False.

7. India is a state.

8. The Glorious Revolution transferred power from the king to

a) Parliament b) Monarchy c) Dictatorship
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9. The French Revolution of 1789 upheld the ideals of liberty, Equality and
Fraternity. (True/ False)

Answer the following questions:-
10. Why is India called a Secular state?

Ans:-

11. What is democracy according to Abraham Lincoln?

Ans:;-

12. Define the term ‘biosphere’.

Ans:-

13. What do you mean by Federal form of Government?

Ans:-

14. What is difference between Natural and Human Environment?
Ans:-

15. Explain in detail the Ecological balance?

Ans:-
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Case Study

In a Parliamentary form of Government, the Executive or the Council of
Ministers is part and parcel of the Legislature. The Prime Minister and all other
Ministers are members of the Legislature. They remain in power as long as
they enjoy the confidence of the Legislature (Parliament). The moment a No-
confidence Motion is passed, they have to resign. Thus, the relations between
the Legislature and the Executive (the Ministers) are usually smooth.

1. Define the term Dictatorship.

2. Who was the dictator of Germany?

3. of India’s neighbouring country was ruled by military

dictators.
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HaTT - Fradl, vy — &
[ F9FF—1] (918 -3 a7 17 )

AreATaFIT - TEHE

[1.] faf@d weat F 3cax v —

(&) AFFT T T8 FT FAT AT T ?

(@) T FIom Hr FAar § I8 FEFT FUT & ?

(1) JAT@HT FY AT TR FT GIT fHEar 7w v 2

(&) RT F I FT FAT AF @ AT AR W9 3@ R A @ IR a2

(3) kT Y fFAR FT FAT FROT AT ?

@ U AT AT FTFTATE ?

(&) 7T i 7Y Fw T A g ?

(51) Itk +ler ot ?

(31) RT +r IR ggA FAT T@eT I™AT ?

(1) fAferor-gfietor & ag w-RfFcaet F Far Fer 2

(@) TR & TfdiT R FT FERR HA FaT AT ?
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[2.] ReFa vt # qfet e -

(i) STFexY o FgT, * IMT F Ryemar ame |

(i) IRT 9T & oTeTar g ol oY |

(iif) , e oY F oft wer- ey @ o I |

(1) R 1L ;. m——— 7 & g, # Y F5-F§ IR IoFT 3@ W@ AT WY |

(v) areera & ahr @ga ot |

(vi) 3uehr fis AR AT W doF 3qF F qUT G G o9 |

(vii) & HEH TE HaTT ¥ AL, ¥ #ft ggaEee ol |

(viii) g§ FT a1 AT BT A TH YHR F IS g a7 |

(ix) , ar F AT ¥ it ag vdllem F F 3T B W /Y W
3oT odr oY |

(x) AT F FeF H T3 FIA & 98 #r eafy § g gHERe e |

[3.] AFfaf@a asel & 3 Tovse ffsw —

(i) Iooraer
(i) i

(iii) FreTeT
(iv) FEAAEA

(v) HhTHS

(vi) 39y

(vii) 8

(viii) =aTfer

(ix) 3TIE
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e - wadr, faww - R
[ FRATTH-2 | ( IS -4 TITG AR AT )

AreATaFIT - TEHE

1 R R——— L 23| kL 21 ) 11 R

[1.] R Tt #r qfet #F -

(i) Ta=E ATATaoT H THT sk gl 9T gSaT ¢ |

(ii) T HT FUA HR FE F FE e o7 |

(iii) & & FT YT QT AT |

(iv) Taeo SRT HPIT vF THT TaeSar gl

(v) ¥ WU & F 915 3T R U H Foeoar Jfae &g afq & o
W e

(vi)m#mﬁaa’kwmg 3k FI FTcAT, AH-JAY FI3
UgeaT anfAe ¥ |

(vii) ART A & aF FFEOTIT I A FHAIA &
#r Al g St 7 |

(viii) FFeem ¢ F ftFrer Aafar ga & ofw w0 F Fror g § |

(ix) aRRE e FT GaG 951 ATCAH gl

(x) STFFNT FHE F AY-/Y TES ot 3l & raRTF ¥ |

(xi) B FIaAT A FI-HIAA qUT Ak FIgE A FIT-HT STeat Y
waE A TE 7 |

[2.] PRf@T =l F 31 FTose fAfGw -

(i) gFeT (v) SRoTETIH

(ii) AeH (vi) rfararr

(iii) Taw (vii) ST

EIEEIGED (viii) gfeaal
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[3.] =@ Teat & 3cax difaw -

(i)mﬁsmmaﬁreymwgeﬁ?

(i) TTTB ARG FATAATT FT B do FT JETE e 3T &9 fFar a7 2

(iii) TITS AR A H9 W Hd g IMAST fFAr =T ¢ 2

(iv) 30 AR F 30 o= F AT fre-frer et & A frar mar & 2

(v) TT=odT FT G FEA AT =T § 2

(vi) eR Y FaEy 3R AT FA @1 51 gFar § ?

(vii) T Fla-wie H NARAT § S 37 N TH OF FT AH A& F WY ?
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122 LR C 13 | AR K I L1 113 1 1NN

9

(1) fafaf@a srafsa sgamr #F 9gax @ v geat & 3ear faf@w -

" o A TlifAT aga & FRON & 8 THa 8, Fhg TR Ger F FHHT WA I37 FROT N¥eF IER A FA E | FEF
37CTET 38 U1 FT T 3R 737 FROT § 9 7 A3t #7181 I11 | T A3 v e et 3R @eF varyt ganr 7R iR &
YAAFIA G | IeT: F18 a9t & T 7% maeds § & 7 T WIS & qa1¢ 710 WieT verd § Fgor F¥ | HoT FA |
7d =) X A g1y oY o 3R A% ueh § AT it El, iRk e F A N § e 33 e F 3w waw A
T S § | § ISt § et §U AT caaT & T e F WA W Hiell H 39T O I A § | $A TS F7 HESA
39T § o eiter & fore g eitamer F1 @ vaor w3 sk sR-seR e e o |

(F) wAfFEr F=Yf gar & 2

(@) 3T FIE ¥ Tua F AT FA7 IMATF T ?

(1) 9T FH AT HF g3T F]Q & ?

() 30 SO T TgoT 39T FIAT ¢ ?

(3) HIST ¥ qd & FAT FI AT ?

(2.) Fff@d Al & 3cav 3 Wer AFed W & (V) F1 FameT semsw —

(i) T Fst A Faw Agqy BHar Inar § § FEamr § -
() sfdaras (@) Hgaras (37) geaTas (a) afFdqaras

(i) #F F aga M3 ¥ |
() IfFdaras (@) shfaaras (3N) gegards (5) HHgATIH
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(iii) TEATT HIAT FIA CAAIEH T § |
() HTgardH (@) IiFddrdesh (31) Sfaarae (8) HHAgaTIH
(iv) e AT frae fFad oo & 2

(ch) qovaTeh HAeH (@) fAstaras A=A @) sifreTaaras G () geeAdTdeh HdelTH

(v) ST A, dT SR |

() HUdTdS HAeATH (@) fAggardas adaH @) fASraras gdaTH (6) SeAardsd HIATH
(3.) AT et & 3cax ST -
(i) aof & fFax AT @A & 2

(ii) FoF TaieT FA-FT T § 2

(iii) T FOR A Fga § 2

(4) U arw AT Fr eAIeT ¥ T@HT 70-80 sl H AT quiar AT -

o

£

. T eo ﬁ:;?f“'
e 3 i

AR
DN

m o
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Its B3 Hidhe Adsd! usfea 7Ags

AH3: A3 WHEGHES-1

ferm U=t -3 (3T gfons)
IIHt it i BT an

&H RIHS s

©) I3 fod maet @ way fau:-

1. form 6.fa=ar

2. Hod 7.8

3. 599 8. Y313

4. IIF 9. THY

5. afgmA 10. $I57

35 313 yns' € €39 fEa? <= <o feb-

Ui 1.9fiz &t 3 2

yrs 2.fq93 Quiffa 1EH ewra fawrg a3 9t 9% 2

Y& 3.09 © A3 3 838 qfg T & EhI

Y& 4. A3 B ufgera 99 fd& 9[fa »3 Gusjfa Hae g5 2

yns 5. fao qffa sgz R dR a5 2
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A& 6. Ug< 39 ¢ ot Hfewr Aer 3 ?

s 7. wiH's S f8a fidd fadt Uyt g it faaraer d 2

Ui 8. UIe AN ff9 mied! Ao w3 8f o8 o34 fan 3 ferr 939 Aee /s ?

U5 9. B 33 fan I g2 dR 952

YA 10. Yar gfons fan &t goer J?

¥) 5 fodw uEl gret 93:-

1. FeA a9 T RS 3 39 I

2wagfRg__ Jfoms Iz I
3.AgHss e qfg sl

a.wHIEdst g9 ufgwt It goe fis wiet J1
5.HSUTEI AT gd3l ©f &J9 It 5T8 I8 Ji
6  TI3 oW gag sger I

H) 35 3 peet § T <o =93
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J6ts 83 Hidhe AYsdt Usfed ATS

7S A3 WHEIGHE-2

femm yarst Urs- WHS 7Y
I St g BT A

&H RIS fH3t:

©) I3 fod et @ oy -

Jg e g HASL

ECipy firarg

Si T

w) 35 fod ymet @ €39 ffa 2 waf T feb:-

e 1-fifet faadt a3 <o uget /t 2

e 2-fifdt @ g9v e &t &F /it 2

yne 3-fifdt g9 2 &t Aot afdet #t 2

YRS 4-vged fifd @ fusT it o fagdt wesr Tudt 2

yns 5-filelt § Ao -fes 3 fomrer fid37 fam € At 2

yre e-fifdlt wrug A Ha9 & faa myf I96 St 2
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YRS 7-49 & wrafed 983 fan 37 € J ardt #t 2

yns s-fildlt €t 9% 7 2 1 & 8RS fimirg & &t faar 2

yie o-fifst & 591t § wdt aga Aa Ui ot § féfemr &t faar 2

yre 10-fifsl &g fagd 9= 7s 2

¥) I fodn uel gret 33

) Sg3dgsfida_ = we3 d|

W) US UIH3H § 9% JI It A

T) 7St & adl
mHASEs U #fenr gami

9) st w2 Jm R AT ugd dwrust 9 wff 9395 St
) 35 foa meet § oo &g <93

€) Ales

) EJS!

®) 7S

H) TIWTH"
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Jdts 83 Hiohg Adsd! usfea Ags

AH3- A<l WHEISHE-3
femr - Urrsit ITH S g T SN
SH AIHS it

Y& 1- I&° &3t arfe- gast & ug 2 23 9 yms' @ €39 fe6-
35 dar e d3" feg, 7§ 53 fimrar 3
€531 T yIia feg Ars, ST 57 fomrar J|
35 d €t &7 3 9 adl, fEA © 38 aTBI T,

©) feg arfe- gaEt fan afesr & w8t ardt 32

) 3T $3" fds Jar v 7

AT ¥ fare yia d 2

Y 2- I&° &3 meet @ wigy fad -
©) sfeu

) fede™H Jue

s 3- 3 &3 meet § o i =93
) udifemrr

™) TEID
YRS 4- 35 &St yrdl <t 93
©) AyElg w3 a9& °F AS|
MEITRAIB___ ARHS |
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YHS 5- 3&F i3 T f<g At T widl (v)W3 3163 T widl (x) T f6rs Bare:-
©) 3nr f&a e four fagr Ml

w) AHElg WEaR Tan 3 e wi

Y& 6- I&F fiE3 yrst @ €39 fia T aget <o fe:-

©) Fuslg fan & ugs fous &g Hee a9 faor At?

) ATEdIg & fam Gua I3 sz ur fiéam

Y 7- 36 fad yrs' @ €39 ffa- 2 o fRo fet:-
©) Ags udifimyr f&g ausEia & &t argqaraTdt gdt 2

W) AEIId © H3 & at sfeugrst &idt?

Y 8- I&7 o wigg meet § fu 99 fou-
©) afe

) WGy

B) W

YR 9- fenme S fdah famit g7 38 s famit @ &3 fad|

YHa 10- 35 fod widg =t & o 99d fodt-
©) How 53 famr J

w)) €T fad wrar 3
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Uas 11- 3 fod U9 § ug a €3 yns' @ €39 fe6-

g5 @ wruEt a8 Inat dt gt | feg goT IASt 578 oHEer 3 | fAR fa 96 wrus S9- Sy
Fg<t € gy R a3t end WHer 3 | 1S 99 96 T wiarg geser afder J1 ufas™ /- warg | I8t &t
feg fEa fama & gu oas J9e I 3T feg J&t- Jat wdy J AT 3 IMAS S8 g6 WruE" wa'g &dl SesT,
g3fa fan 839 f&o feg Jer J, €8 man & Inat sess Jiftas' aese warst § Jt 8 e agef e &
&3 famr 3 | - aEd for T a8 wad & sadt weer I3 far §ifmr e st fés AT 3 |

Ui 1. 96 OI31 © e fam gu g whrer 3 2

YHS 2. 96 € Wa'd J¢ gese Ifde 3 2

Y& 3. Ufas™ wa'g fan wag ffg dev d 2

YHS 4. 96 € a8 w9 § faga &f fegraer 3 2

YHS 5. 96 far € Ind &8 gHae’ 3 2
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